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QUESTION 1

Which two statements describe IPv4 default behavior for BGP? (Choose two.)
A. All active BGP routes are exported to configured EBGP neighbors.

B. All BGP routes are exported to configured EBGP neighbors.

C. All BGP routes are imported into the inet4.0 routing table.

D. All BGP routes are imported into the inet.0 routing table.

Correct Answer: AD

QUESTION 2

Which routing table is used for multicast forwarding cache?
A.inet.2

B. inet.0

C.inet.1

D. inet.3

Correct Answer: C

QUESTION 3

What does the number inside the square bracket represent?

userf@router> show route

inet.0: 1222 destinations, 1525 routes (1222 active, 0 holddown, 0 hidden)

+ = Active Route, - = Last Active, * = Both

0.0.0.0/0 *[Static/5] 1lw2d 22:59:01
> to 10.10.10.1 via fxp0.0

10.10.10.0/25 * [Direct/0] 1w2d 22:59:01

> via fxp0.0
[Direct/0] 1lw2d 22:58:57
> via fxp0.0

10.10.10.7/32 *[Local/0] 1lw2d 22:59:01
Local wvia fxp0.0

10100100932 * [Local/0] 1w2d 22:58:57
Local wvia f£xp0.0

10.200.200.0/23 * [Direct/0] 1lw2d 22:30:24

> via xe-0/0/3.100
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A. Metric

B. Local preference

C. Protocol reference number
D. Route preference

Correct Answer: D

QUESTION 4

Which two commands would you use to reset the candidate configuration to the active configuration? (Choose two.)
A. rollback O

B. rollback 2

C. rollback 1

D. rollback

Correct Answer: AD

QUESTION 5

user@router> show route protocol static

inet.0: 7 destinations, 8 routes (7 active, 0 holddown, 0 hidden)
+ = Active Route, - = Last Active, * = Both

192.168.47.0/24 *[8tatic/5] 02:02:03
> to 172.16.1.2 via ge-1/2/0.0
[Static/25] 01:58:21
> to 192.168.2.2 via fe-1/2/1.2

Referring to the exhibit, what information is provided about the route to 192.168.47.0/24? (Choose two.)
A. There are two active routes to 192.168.47.0/24.

B. There is a single active route to 192.168.47.0/24.

C. There are two next hops available to 192.168.47.0/24.

D. There is a single next hop available to 192.168.47.0/24.

Correct Answer: BC
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